


i %9 <=
AH.“M«‘ln_jjJ‘.t 1

\.......l i

L]
=
L]
<
T
2
3
L]
A
=
=
L]
Q
L
>
O
O
A
O
<
=g
i
L
O




CrPALA CbC CMECEHO MNPEAHASHAYEHVE

_ynmuts )
HEE 5

X1-83,84

CUTYALIMOHHO PELLEHE




HE CE KOTMAE

CrPALA CbC CMECEHO MPELAHASHAYEHVE

HE CE KOMAE

afiLy KopMAcR
14.60.m*

MAHEBPEHA MIoLL
MNOOSEMEH IMAPANC
154.90 m*

i e = — )
= T

OOCTBAHO N.M.

|

|

[ — =

I Pk

| | L\rﬂpnx:“lﬂ i .} a7
= padane| LY 4

|

[

|

|

waba 1
284 m*

wabe 2
325m*

wvata 3
325m*

vaba 4
325m*

520
-

afie 54
wetim 20| vate 58 | vate S8 |pase 57 Hogeyich
23 mt 322 m? 122 m 31 m )
7 ey
=] = =] o
ki {1’
iy | 7.
RS w18
205m* 1.6 m*
viote 147 m:%; 13
i
205 7 206 m? \
F = i vate 18\ g
=% | 365
KOPROR Wb
asmE_L
; |5 watia 19
N b asame 2
watia 1 hata 12
228m? 234m

EOEAROR Waliv

WHEm

praba 42
325m*

2,86 m?|

yBe H2
22 me

HE CE KOMAE

Sabenemxa:

Bevurn BeToHHH CTeHN
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